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lMpou3800HbIe 3ieMmeHMAapHbIX PyHKYUl

DOyHKIUA ITpousBoiHas
C 0
X 1
kx k
Xn pxn—l
Vx 1
2Vx
e e
a X a *ln «
sin x Cos X
CoS X -sin x
1
COSZX
tg x
In x 1
X
L
log.x xlha

NMPABUNA HAXOXAEHUA NMPOU3BOAHDbIX

dyHKuMA NMpounssoaHan
1. f(x) + g(x) f'(x) +8'(x)
2. cf(x) cf (x)
3. f(x) " g(x) f'(x) - g(x) +f(x) ~ g "(x)
4. f(x) f'(x) - g(x) - f(x) ~ g "(x)
g(x) g’(x)
5. f (kx + b) kf’(kx + b)
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OBPA3EL, PELUEHUA
1. (X*+3x*—7x+6) =2x+34x*-7+0=2x+12x*-7;

2. (x°=x>+78") =-5x°—3x*+ 78%

1
3. ( Vx+6 ) = 21x+6 ;

4. (sin2x—3"%)'=2cos2x—-3"*"In 3;

5
5. (cos (4x—1) + logs x —tg 5x +X)' = - 4sin (4x—1) + X4 - COs'5X 41,

HaiTtu npoussogHbie GYHKLUUNA:

5x°—4x}—x*—7x +3)’
x7—x+6)
In(x=5)+£""
Vx+7— log,(x—9) )
38" ~sin(6x—1) )
4cos(2x+8)-5""" )
3V5x+6In(3x+1) y
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	log a x


